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KRB @EFHETRY (13) 2, 350kg/m3) t=5cm
EL# (7" 54h3-b PK-3)

EL# : 7" 54ha-b (PK-3)
| B8 RO-40 t=00cm _

LREEEIE 2) RC-40 FEHF1t=0om)

TREEIE (1) : #BHMEL

RE - BEBMETAIY (3) t=5cm
FLH : 7" 54ha-} (PK-3)
TEEZEIE (2) : RC-40 424 F19t=2cm

RIE (BEFHATRIY (13) 2, 350kg/m3) t=5cm
FLH| 0" 54ha-} PK-3)

B OA No.0  [No.0+15.4 | No.0r17.1| Mot | No.1+6.1 | MO8 | no 1460 | B8 (RC-40 t=20cm)
st | hEER | 2.50 2.20 2.40 2.40 2.60 3.00 3.00 [ FREE(D MEHEL)
& | FEEED) | 1.00 1.10 1.10 1.10 0.90
08 | REBE Q)| 250 2.20 2.40 2.40 2.60 3.00 3.00
B mom 1.00 1.10 1.10 1.10 0.90
m = B 3.50 3.30 3.50 3.50 3.50 3.00 3.00
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1950~2750 !
1700~2000 0~900
g :
RIE : BEBHAETAIY (13) t=5cm
FLF| 77 54ha-b (PK-3)
| B : RC-40 t=20om
THEZEEQ)  #HEHEL

RE  BEEHAETAY (13) t=5cm

FLH : 7" 54ha-} (PK-3)

TEEZEIE (2) : RC-40 424 F19t=2cm
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EI No.0 [ No.0+1.0 | No.0+1.9 | MODEL? | Mo 0451 | Mo 0s11.3| NOOHHLS | No. 011, 8
S| EEMREERE | 1.05 1.95 2.00 2.00 1.70 1.85 1.85 1.95
B | FREE (1) 0.75 0.90 0.80
| FEREQ| 1.9 1.95 2.00 2.00 1.70 1.85 1.85 1.95
Bl u o= 0.75 0.90 0.80
m & ® 1.95 1.95 2.00 2.75 2.60 2.65 1.85 1.95
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No. 0~No. 0+15. 7 HE B
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2800~3300 !
2800 ~500

B - BEBHETRY (13) t=5on |ELELO 3ha-t PKD)

\EF I—é—' I (BAEHETA (13) 2, 350ke/n3)_t=5om

REERIF (2) (RC-40 F14t=
S+ 7 50 PK-3) LREEEIE 2) RC-40 FEHF1t=0om)

| B - RO-40 t=000n _
FREEE (1) : ML

RE - BEBMETRIY(3) t=5cm
FLH| : 7" 54ha-} (PK-3)
TEEFEIE (2) : RC-40 42 # F19t=2cm

RIE (BEFHATRIY (13) 2, 350kg/m3) t=5cm

FLH| 0" 54ha-} PK-3)

TSI B (RC-40 t=20cm)
BoR No.0 No.0+14.8 | "¢’z y | No. 0+15.7 FEEE () BREHEL)
5t | SREARBERE 2.80 2.80 2.80 2.80
& | FREEIE (1) 0.50 0.50
18 | REERIE (2) 2.80 2.80 2.80 2.80
Bl u o= 0.50 0.50
m| = & 3.30 3.30 2.80 2.80
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